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#64645<O5 ?4DF=5DO!

�5D4M45< 6=<<4=<5, >><?4=<O Rust-Oleum <7<5=<?4 >5N5< < D5F5?FGDG =45>D4 SPECIALTY DRY ERASE KIT

WHITE, 4DF 241140 (�D4E>4 E MDD5>F>< <4D>5D=>= 4>E><, F65F 55?O=).

 4=55 ?>EF46?O6L<=EO =45>D <<5? >5N5< E>45D6<<>7> 0,797 ?. �>6O= =45>D <<55F >5N5< E>45D6<<>7> 0,473 ?.

�>7=<>45F 6>?D>E: ?>G5<G F5=4 =>6>7> =45>D4 >EF4?4EL ?D56=5=? �7=4G45F ?< MF>, GF> EF><<>EFL <2 >>=5G=>7>
?>>DOF<O G65?<G<?4EL 6 2 D474?

�E?< >F65G4FL >>D>F>>:

· 6 =>6>< =45>D5 <>4<D<F<D>64=4 D5F5?FGD4 E6O7GNM57>,

· G65?<G5=> E>45D64=<5 ?<7<5=F4 (4<>>E<44 F<F4=4) <, >4> E?54EF6<5, 6OL5 ?>>474F5?< ?> EGE><G >EF4F>G.

�?O ?>?GG5=<O ?>>DOF<O E 74O6?5==O<< E4D4>F5D<EF<>4<< ?D><76>4<F5?L

· D4=55 D5>><5=4>64? =4=>E<FL E>EF46 =4 4,5 <2 6 2 E?>O (EF4DO= =45>D),

· E5=G4E 65 GF>5O ?>?GG<FL >>=5G=>5 ?>>DOF<5 F4>>= 65 ??>M44LN, 4,5 <2   -  ?>FD55G5FEO =4=5EF< E>EF46 6E57> 6
1 E?>= (=>6O= =45>D).

�>OE=<< MF> =4 F<DD4E. �EE>4=O5 44==O5 ?D54EF46?5=O 6 F5E4>>G<5=F4F<<.

!F4DO= =45>D: >5N5< E>45D6<<>7>, V = 0,797 ?; ??>F=>EFL, Ã = 1,15 >7/?; EGE>= >EF4F>> = 43,3 <4EE. %. �4E>4<<
<4EEG E>45D6<<>7>: � = V x Ã = 916 7. �>E?5 <E?4D5=<O D4EF6>D<F5?O <4EE4 EGE>7> >EF4F>4 E>EF46<F: m = 396 7.

�>6O= =45>D: V = 0,473 ?; Ã = 1,23 >7/?; EGE>= >EF4F>> = 58,2 <4EE. %. �4E>4<< <4EEG E>45D6<<>7>:

� = V x Ã = 582 7. �>E?5 <E?4D5=<O D4EF6>D<F5?O <4EE4 EGE>7> >EF4F>4 E>EF46<F: m = 339 7.

�4> <O 6<4<< <4EEO EGE>7> >EF4F>4 4?O EF4D>7> < =>6>7> =45>D4 E>?>EF46<<O. �?O 5>?LL5= =47?O4=>EF< <O <>65<
D4EEG<F4FL GE?>6=GN F>?M<=G EGE>= >D4E>G=>= ??5=><, 5E?< D46=><5D=> D4E?D545?<FL 6 1 E?>= E>45D6<<>5
>464>7> =45>D4 =4 ??>M44< 4,5 <2 (??>F=>EFL EGE>7> >EF4F>4 6 F>< < 4DG7>< E?GG45 ?D<<5D=> >4<=4>>64, ?>MF><G
4?O G4>5EF64 ?D<<5< 5U 74 1 >7/?).

�F4>, F>?M<=4 >D4E>G=>= ??5=>< 4?O EF4D>7> =45>D4 E>EF46<F: 396 E<3 / 4,5E104 E<2 = 88 <><.  �?O =>6>7> =45>D4:

339 E<3 / 4,5E104 E<2 = 75,3 <><. 1F> >7=4G45F, GF> 4?O >4=>= < F>= 65 ??>M44< F>?M<=4 >D4E>G=>= ??5=>< G =>6>7>
=45>D4 <5=LL5, G5< G =>6>7> =45>D4 6E57> =4 17%. �> E?54G5F GG5EFL, GF> =>6>< =45>D5 E>45D6<FEO 5>?LL5
?<7<5=F4 (74 EG5F GE<?5==>7> E>EF464 E6O7GNM57>) < G>DO6<EF>EFL 57> 6OL5.

"4><< >5D47><, <>6=> E45?4FL 6O6>4, GF> M>E??G4F4F<>==O5 E4D4>F5D<EF<>< ?>>DOF<O =4 >4<=4>>6>= ??>M44< (6
44==>< E?GG45 4,5 <2) 4?O EF4D>7> < =>6>7> =45>D4 E>?>EF46<<O.

"B65G05< =0 6>?@>A 6OH5: «�7=4G45F ?< MF>, GF> EF><<>EFL <2 >>=5G=>7> ?>>DOF<O G65?<G<?4EL 6 2 D474?» –

��", &��� <2 ����'���� ��� /"�/ �� ��������!0.

1>E??G4F4F<>==O5 E4D4>F5D<EF<>< >D4E>< >EF4?<EL ?D56=<<<.
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